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QUESTION 1

Using QoS statistics for a group of volumes on one node, you notice that most of the latency comes from the data layer.
In this scenario, which statement is correct?

A. There is too much indirect traffic from other nodes.

B. QoS processing is increasing CPU usage.

C. The CPU on the node is overused.

D. High disk use is increasing CPU usage.

Correct Answer: D

QUESTION 2

Which two statements are true about epsilon in a 4-node cluster? (Choose two.)
A. Epsilon is used as a tie-breaker for determining a quorum.

B. Epsilon is automatically assigned to the first node when a cluster is created.
C. Epsilon is used for determining the up node in failover.

D. Epsilon is automatically assigned to the last node added to a cluster.

Correct Answer: AB

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html

QUESTION 3

Click the Exhibit button.

% showmount —-e= 10.¢€4.82.36
Export list for 10.64.82.96:

/ (everyone)
/unix (everyone)
/win (everyone)

An NFS client is failing to mount a volume exported by an SVM with the 10.64.82.96 IP address. The volume has a
junction path of "/unix". The customer attempted to verify access rights by using the command shown in the exhibit.

In this scenario, what are two conclusions? (Choose two.)
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A. The client is granted access to "/unix".

B. The client has network connectivity to the SVM.
C. The SVM\\'s MOUNT RPC service is registered.
D. The SVM only owns three volumes.

Correct Answer: BD

QUESTION 4

You want to replicate all volumes of an SVM, including the SVM\\'s configuration data, to another cluster on an hourly
schedule.

Which action should you perform to accomplish this task?

A. Configure SVM disaster recovery between the two SVMs.

B. Configure SyncMirror between the two clusters.

C. Configure SnapMirror replication for the volumes with a relationship type of DP.
D. Configure SnapMirror replication for the volumes with a relationship type of XDP.

Correct Answer: A

Reference: https://library.netapp.com/ecm/ecm_get_file/ECMLP2496254

QUESTION 5

Two end-users are both connecting to the same SMB share, but end-user A sees different files and folders than end-
user B.

Which statement is correct in this scenario?
A. Access Based Enumeration (ABE) explains this behavior.
B. NetApp Storage Encryption (NSE) explains this behavior.
C. End-user A is authenticating with NTLM.
D. NetApp Volume Encryption (NVE) explains this behavior.

Correct Answer: C
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